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h_dedx_estim1
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03: Mean 2.41
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dE/dx, harm?2

| dE/dx estimator 2 |

h_dedx_estim2
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dE/dx, trunc40

—=— DQM_VO000T_RO0000000T__Global__CMSSW_ckiPUS0__RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__ RECO
—— DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO
—— DQM VOOOl R0O00000001__Global__CMSSW_| IooseSC RECO | satl
ENTIes 475062 : ENTes 425062
""""""""""""""""""""""""" Mean 5.193 : Mean 0.2183
Std Dev 57481 0 QR . Std Dev 0.54
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Mean 4.307 : Mean 0.1848
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dE/dx number of measurements with saturation
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